Solutions 4.9--Spring 2008
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10. f(z) = Va3 + Vet =2 +2Y7 = F(z)= + +C‘=$3:?f4+%x7f3+6'
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4. f(x) =3e® +Tsec’z = F(z)=3e" + Ttanz + C, onthe interval (n7 — I, n7+ 3).

15. g(f) = cosf —5sinf = G(f) =sinf —5(—cosf)+C =sinf+5cosf +C

32310y fz>0
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35. f'(z) = x~'/? has domain (—oo0,0) U (0,00) = f(z) =
(=) ( )L (0, 0) (=) 223 4+C, ifz<0

fA)=2+Ciandf(1)=1 = Ci=-1 f(-)=2+Coamdf(-1)=-1 = Cp=-%.

523 1 if x>0
Thus, f(x) =
3,238 ifz <0

36. f'(z) =4/V1—2 = flz)=4sin'z+C. f(i)=4sin'(})+C=4-Z+Candf(i)=1 =

Ztc=1 = C=1-2%2sof(z)=4sin'z+1— 2.

46. f"(z) =cosz = f'(z)=sinz+C f'(0)=Cand f"(0)=3 = C=3 f'(z)=sinz+3 =
fllz)=—cosz+3z+ D f(0)=—1+Dand f'(0)=2 = D=3 f(z)=—cosz+3x+3 =
flzx)=—sinz+ 224+ 3x+E. f(0)=FEand f(0)=1 = E=1Thus, f(z)=—sinz+ 32" +3z+ 1.

57. v(t) = &'(t) = sint —cost = s(t)= —cost—sint+C. s(0)=—-1+Cands(0)=0 = C=1,s0

s(t) = —cost —sint + 1.

60. a(t) = v'(t) = cost +sint = v(t) =sint—cost+C = 5=2v(0)=-14+C = C=6,50
v(t) =sint —cost+6 = 3(t)=—cost—sint+6t+0D = 0=35(0)=—-14+D = D=1,s0
s(t) = —cost —sint + 61 4 1.
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